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zá

ko
n

za
ch

ov
ań
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zá

n
ik

u
čá
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čá
st

ic
e;

en
er

gi
e

el
ek

tr
on

u
at

om
u

se

m
ů
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ýš
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eń
ı
el

ek
tr

on
u

od
at

om
u
,

tj
.
io

n
iz

ac
e.

1



V
p
la

zm
at

u
m

u
śı
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čá

st
ic

em
i:

p
od

le
C

ou
lo

m
b
ov

a
zá
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aľ

śı
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sé
ri

i
n
ás

le
d
n
ýc
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á
rń
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áž
ko

u
a

v
′ a

v
′ 1

p
o

sr
áž
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ř́ı

b
ĺıž
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áž
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éz

ké
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áž
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ň
u
je

je
d
n
od

u
še
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áž
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śı

n
a

d
et

ai
le

ch
sr

áž
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vé
h
o

p
ro

ce
su

.
V

p
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eń

ı.
P

ro
ka

žd
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lý
n
a

zá
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já

d
ři
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čá
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vý

m
p
ro

b
lé
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ži
je

m
e

(6
.3

1)
a

(6
.2

9)
k

el
im

in
ac

i
d
θ/

d
t

a
d
r/

d
t.

D
if
er

en
ci

ál
ń
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vě
tš́
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ře

ń
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é

vz
d
ál

en
os

ti

b
a

p
oč
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ĺı

o
p
ol

om
ěr

u
R

1
a

R
2
.
P

ot
en

ci
ál

ń
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žu
jm

e
p
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aš

em
p
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áb

o
je

čá
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ýc

h
čá
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śı
n
a

to
ku

čá
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ži
ta

,p
ro

to
že

b
kl

es
á,
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ič

in
u

d
b/

d
χ

vy
já
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oč

et
čá
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tý
le

n
ý
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ře

d
sr

áž
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áž
ce

je
hy

b
n
os

t
ve

sm
ěr
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ćı

ch
čá
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ćı

m
sv

az
ku

.
S
tř
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ćı

čá
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čá

st
ic

em
i
te

rč
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či

n
n
é
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žk

u
tu

h
ý
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ži
je

m
e

vz
ta

h
(6

.4
5)

p
ro

ú
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ý

ú
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é

m
ol

ek
u
ly

o
p
r̊u

m
ěr
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ýc

h
ko

u
ĺı
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ž

je
vz

ta
h

p
ro

R
u
th

er
fo

rd
ov

sk
ý
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áń

ım

σ
t
=

π
b2 0

[
1

si
n

2
(χ

m
in

/2
)
−

1]
,

(6
.9

0)

co
ž
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ń
ı

te
d
y

ce
lk

ov
ý
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Ú

či
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eč

n
é
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é

vz
d
ál

en
os

ti
b

(m
al

é
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ře
zu

(6
.5

8)
:

σ
t
=

2π

∫
b c

0

b
d
b,

(6
.9

3)

kd
e

js
em

za
ve

d
li

m
ax

.
h
od

n
ot

u
b

=
b c

,
ta

kž
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tě

sn
é
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ěń

ı
je

D
eb

ye
ov

a
d
él

ka
:

λ
D

=
(ε 0

k
T

n
0
e2

)1 2
.

(6
.9

6)

K
ou

le
o

p
ol

om
ěr
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ž
Λ
À

1,
ta

kž
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tš

in
u

la
b
or

at
or

ń
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čá
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